R E Fa ik

BEER:

—1®n(n < 1000) D5 R0, FAIELAVER 1, BIRTMEMHEN S ZBEER,
BREMAAUEEH—TRE—TRSHNIEBRTHRRAIL,

BRRAIAMER ask(u, V) EHR V B— &S (REAAAR) JBEER Y,y dist(u, z), HH
dist(z, y) AW ExyFR&s@EIKE. REEBETanswer(u, v)REEHHIFTHL,

{EWEERETEERT AR, B V| 9EMTaERT B.
SCHLAT
RENZIBHEE Cr+ 11 MR LR Cr+ 35S,

REBEEERBAXES :
1  #include"tree.h"
RAFESLIMERE, RRAFTIMA FRE:
1  void solver(int n,int A,int B)

ZEBEAESENLRFRRER X,

RAT AR FERECREIE AR, v ORKNSFAREERE B, B—XiEA v hxEAEeEE:
1 int ask(int u,vector<int>v)

xR u 2 v FAAERIEEZM.
BHERRE, MEZRBUWTREEE n — 1Kk

1 void answer(int u,int v)

ERGE—5 (u,v) HIHD,

BAEREHARICRNRE, REEFBER,



A

F—1T=1T%%n,A B,

BT — 1 T8TM TN EBR u, v R—FRA,

BibAE:

ERMABAFEERRFIR, WEEH "Invalid", HEXHERRERA.
EEREEEE A, MKt "Too many queries”,
EWONEEVIIRNENBE B, MKt The sum is too large”,

REINNEIR, NS Different tree”,

ot

ERIEH, NEHE"Correct cnt=x sum=y", EHxRi8a) 20X, yAvRIRNEH,

ESTEIPN

ot

1 3 114 514

2 12
3,23
=Sk

1 Correct cnt=2 sum=3

REITE

tree.cpp : ask(1,{2,3})

grader.cpp : 3

tree.cpp : ask(1,{2})

grader.cpp : 1

tree.cpp : answer(1,2)

tree.cpp : answer(2,3)

grader.cpp : Correct cnt=2 sum=3

#iECE

Subtask 1 (3%3):n < 1000, A =5 x 10°, B =5 x 10°,
Subtask 2 (174) :n < 100, A = 3 x 103, B = 3 x 10%,
Subtask 3 (20%): n < 1000, A = 5 x 10%, B = 3 x 10°,
Subtask 4 (60%) : n < 1000, A = 8500, B = 3 x 10°,
it EIRR = 0.9,



= ERHI= 1024M B,
REFEERNEENAEFRYD, AINRE.



RARE
BH3i%1 : subtask 1

BEEFO8— T IxEnNERES= 1, ATMMESATRZEREFEEL.,

cnt = sum = w

HAEES D 3,

Ei%2 : subtask 2,3
EXREFind(S) 2 EBRSANIE L.
ZRADERIBAKEE,

EORIMEREENRINR, RAEKRIEOZEMFEZNEST/LFNFNER: — T —TRBEZETHT
ILFRFN, AIBMER =7, EANRIEXNE)LFIEEZdepth-1, ft#lZdepth+1,

BERBEO(nlog? n), FTEHAER/N, Ln < 10008, BIERETAREEZTI0000, FH
O(n?) &%), FE#BI3 x 105,

ISvity

v

&;%3 : subtask 1,2,3,4

AARIEC BMHIRHREE TN, (B4 RBF Tnlog? nEA2, BiiftqiRithiO(nlogn) s,
BEEEMR, AEKREESMEFRL,

RIRHSREBERSANES BB, BANEGANRERES BRE-1,
BESATIEND M ES AL, Ar.

#=Bhr iR AT EMILFE, Wask(i, Ag) = ask(j, Ar) + |Ar
/3, FIGERER AT AL,

BIERENO(nlogn), BITdprA AE HRIFIERIRIERE}9226, TSR H1RMEFH.
—EEffE:

1. MRZHENFED ARARBEERTEI226M,

2. FELIER,

, FRARTLAIRBRask(i, AR) D EFH#

3. MRBFZ|A| = 288, AIMA—EEESE, FE0ERE< |B|. AIAS ZEhttps://codeforces.com/cont
est/1705/problem/FAIMHIE, WRERX MM, TDUREVBERIRIEREL

4. MFBIFZ|A| = 288, AAA—LEHERE, FEEERE< |B|. AIME1279—4A, M¥F—1ETMU—
REEBNNETFAMILF, MRFFOFEI2FIUERLER, TARAENBEELERN., FTFRSERMMALER

BRE.

ERAXERATMURRBIETOOXATLER, EERMEIT000, MRAFEIER, REMMM3/4, BRYE
WIS BT 8000895 E, FX L, MASHARTLEN, REBEEMMIFEAMITREET . ARNPRSHSIRR L
stdfOREZ T —FZIR, ARFEH.


https://codeforces.com/contest/1705/problem/F

SINENF D ARESNMEEZRERNT, ERNEFEREMLMEE (RBdq) -
WFEERER | WRMBNES A, AIUMEHRA WFE S E15ask(i, S) BB (Al +1)/2,

B, ZERHERNE T, F=OFRORE 11, Ty, ..., T, stze@H, WE8 UES Tia B T 89
size BB |A|/28BNET, T, . . ., T;REVANIE, T3 Ty, FRE— NI,

&4 4

ANy = |

FETBERTRFORE _HIERA, FERZ0(nlog” n)iiE, SABZIDESTENNERIETHREE
MO (nlog? n)oiis, ERMFEIETELN, MEASBSHEBEERHE, BH/0\E8Hn log? nkIREETE
BY, AAZTEERERFHINEDRBREDNAGE, HREFBIRE,

FEBINMERS, WEARDZE,



	题目描述
	题目背景：
	题目描述
	实现细节
	输入格式：
	输出格式：
	样例输入
	样例输出
	交互过程
	数据范围

	题解
	算法1 : subtask 1
	算法2 : subtask 2,3
	算法3 : subtask 1,2,3,4
	一些优化：

	总结


